	D ITEMS: S. Pros	spect St. (Sta. 10+00 to Sta. 23+35)			Engineer'	s Estimate		or Corp		Excavating		Trucking
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
	ORK & REMOV	· · · · · · · · · · · · · · · · · · ·	QII	UNIT	0031	TOTAL	0001	TOTAL	0031	TOTAL	0031	TOTAL
1	ODOT/SC	ODOT 201 Clearing and Grubbing, complete	1	Lump Sum	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$12,350.00	\$12,350.00	\$14,875.00	\$14,875.00
2a	ODOT/SC	ODOT 203 Excavation, not including embankment, including removal and disposal of excess material off site.	274	Cubic Yard	\$20.00	\$5,480.00	\$25.00	\$6,850.00	\$23.50	\$6,439.00	\$18.50	\$5,069.00
2b	ODOT/SC	ODOT 203 Excavation, for removal of unsuitable pavement base material, not including embankment	75	Cubic Yard	\$20.00	\$1,500.00	\$20.00	\$1,500.00	\$12.00	\$900.00	\$22.00	\$1,650.00
2c	ODOT/SC	ODOT 203 Excavation, not including embankment, for use as embankment material on-site (overdig for paving operations)	283	Cubic Yard	\$12.00	\$3,396.00	\$20.00	\$5,660.00	\$12.00	\$3,396.00	\$12.00	\$3,396.00
3a	ODOT/SC	ODOT 203 Embankment, not including excavation (select natural fill to subgrade elevations from excavation, overdig for paving operations).	283	Cubic Yard	\$12.00	\$3,396.00	\$20.00	\$5,660.00	\$18.50	\$5,235.50	\$12.00	\$3,396.00
3b	ODOT/SC	ODOT 203 Embankment, Type B for replacement of unsuitable pavement base material, not including excavation	75	Cubic Yard	\$50.00	\$3,750.00	\$50.00	\$3,750.00	\$40.00	\$3,000.00	\$38.00	\$2,850.00
4a	MEDINA	Roadway Pavement Removal, as per plan (including 10" to 14" concrete base pavement and asphalt overlay, concrete curb, including sawcutting (street only))	3,164	Square Yard	\$15.00	\$47,460.00	\$13.00	\$41,132.00	\$8.50	\$26,894.00	\$11.10	\$35,120.40
4b	MEDINA	Driveway Pavement Removal, as per plan (4" to 10" Concrete or Asphalt pavement, including curbs and sawcutting (driveway only))	1,024	Square Yard	\$12.50	\$12,800.00	\$13.00	\$13,312.00	\$6.00	\$6,144.00	\$7.50	\$7,680.00
5	ODOT/SC	ODOT 204 Subgrade Compaction (driveways)	1,208	Square Yard	\$2.00	\$2,416.00	\$1.00	\$1,208.00	\$2.50	\$3,020.00	\$1.00	\$1,208.00
6a	ODOT	ODOT 202 Walk Removed	4,683	Square Foot	\$2.00	\$9,366.00	\$1.00	\$4,683.00	\$0.80	\$3,746.40	\$1.15	\$5,385.45
6b	ODOT	ODOT 202 Sidewalk Steps Removed	1	Lump Sum	\$500.00	\$500.00	\$300.00	\$300.00	\$1,400.00	\$1,400.00	\$320.00	\$320.00
7a	MEDINA	Abandon Utility Main Removed (within pavement area and within 3 feet of finished grade, including excavation, removal, disposal, & premium backfill) complete	1,300	Lineal Foot	\$15.00	\$19,500.00	\$4.00	\$5,200.00	\$1.00	\$1,300.00	\$15.50	\$20,150.00
7b	MEDINA	Abandon Utility Service Removed (within pavement area and within 3 feet of finished grade, including excavation, removal, disposal, & premium backfill) complete	350	Lineal Foot	\$12.00	\$4,200.00	\$3.00	\$1,050.00	\$1.00	\$350.00	\$9.40	\$3,290.00
8	MEDINA	Geogrid Subgrade Stabilization Matting (to be used in undercut areas as directed by the City Engineer), complete in place	250	Square Yard	\$8.00	\$2,000.00	\$5.00	\$1,250.00	\$3.50	\$875.00	\$6.25	\$1,562.50

BASE BI	D ITEMS: S. Pros	pect St. (Sta. 10+00 to Sta. 23+35)			Engineer'	s Estimate	TriMo	r Corp	Fechko E	xcavating	Fabrizi 1	rucking
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
EARTHW	ORK & REMOVA	L ITEMS (Continued)										
		SUBTOTAL, EARTHWO	AL ITEMS:		\$135,764.00		\$106,555.00		\$75,049.90		\$105,952.35	

STORM S	EWER											
9	ODOT/SC	ODOT 202 Storm Structure Removed, replaced with Type 304 aggregate to subgrade elevations, including excavation	12	Each	\$500.00	\$6,000.00	\$400.00	\$4,800.00	\$875.00	\$10,500.00	\$450.00	\$5,400.00
10a	ODOT/SC	ODOT 202 Storm Sewer Pipe Removed, 24-inch diameter and under, replaced with type 304 aggregate to subgrade elevations, including excavation	420	Lineal Foot	\$18.00	\$7,560.00	\$20.00	\$8,400.00	\$26.25	\$11,025.00	\$22.00	\$9,240.00
10b	ODOT/SC	ODOT 202 Storm Sewer Pipe Removed, 24-inch diameter and under, NOT including excavation, trenching or backfilling	664	Cubic Yard	\$8.00	\$5,312.00	\$5.00	\$3,320.00	\$10.25	\$6,806.00	\$3.00	\$1,992.00
10c	ODOT/SC	ODOT 202 4 inch diameter Curb Drain Removed, NOT including excavation, trenching or backfilling	2,609	Cubic Yard	\$4.00	\$10,436.00	\$1.00	\$2,609.00	\$1.25	\$3,261.25	\$1.00	\$2,609.00
11a	MEDINA	Standard Curb Inlet Basin, complete in place	10	Each	\$2,300.00	\$23,000.00	\$3,000.00	\$30,000.00	\$2,950.00	\$29,500.00	\$4,138.00	\$41,380.00
11b	MEDINA	Standard Curb Inlet Manhole, complete in place	2	Each	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$3,150.00	\$6,300.00	\$5,170.00	\$10,340.00
11c	MEDINA	Standard Storm Manhole, complete in place	6	Each	\$3,000.00	\$18,000.00	\$3,800.00	\$22,800.00	\$2,865.00	\$17,190.00	\$5,235.00	\$31,410.00
12a	MEDINA	Storm Sewer, 12-inch diameter, within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)	276	Lineal Foot	\$62.00	\$17,112.00	\$78.00	\$21,528.00	\$77.00	\$21,252.00	\$105.00	\$28,980.00
12b	MEDINA	Storm Sewer, 12-inch diameter, outside of pavement areas (acceptable natural fill permitted) as per plan (including trenching, furnishing and installing bedding, and backfill)	220	Lineal Foot	\$57.00	\$12,540.00	\$66.00	\$14,520.00	\$67.00	\$14,740.00	\$87.00	\$19,140.00
12c	MEDINA	Storm Sewer, 12-inch diameter RCP (Class IV), within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)	56	Lineal Foot	\$100.00	\$5,600.00	\$160.00	\$8,960.00	\$89.00	\$4,984.00	\$104.00	\$5,824.00
12d	MEDINA	Storm Sewer, 15-inch diameter, within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, and backfill)	292	Lineal Foot	\$70.00	\$20,440.00	\$85.00	\$24,820.00	\$88.00	\$25,696.00	\$113.00	\$32,996.00
12e	MEDINA	Storm Sewer, 15-inch diameter, outside of pavement areas (acceptable natural fill permitted) as per plan (including trenching, furnishing and installing bedding, and backfill)	586	Lineal Foot	\$64.00	\$37,504.00	\$75.00	\$43,950.00	\$80.00	\$46,880.00	\$94.00	\$55,084.00

BASE BII	D ITEMS: S. Pros	spect St. (Sta. 10+00 to Sta. 23+35)			Engineer	's Estimate	TriMo	or Corp	Fechko E	Excavating	Fabrizi	Trucking
ITEM					UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
STORM S	SEWER (Continu	ied)										
		Storm Sewer, 6-inch diameter PVC, outside of pavement areas (acceptable										
		natural fill permitted) as per plan (including trenching, furnishing and		Lineal								
13a	MEDINA	installing bedding, and backfill)	500	Foot	\$40.00	\$20,000.00	\$45.00	\$22,500.00	\$64.00	\$32,000.00	\$67.00	\$33,500.00
		Storm Sewer, 6-inch diameter PVC lateral, within pavement areas										
		(premium fill required) as per plan (including trenching, furnish and install		Lineal								
13b	MEDINA	bedding, and backfill)	808	Foot	\$50.00	\$40,400.00	\$50.00	\$40,400.00	\$71.00	\$57,368.00	\$78.00	\$63,024.00
		4-inch perforated, corrugated polyethylene smooth lined pipe (curb drain)										
		complete including trenching, aggregate backfill per plan detail, fabric wrap		Lineal								
14	MEDINA	and tie-in to storm sewer, as per plan	2,619	Foot	\$12.50	\$32,737.50	\$13.00	\$34,047.00	\$15.00	\$39,285.00	\$14.50	\$37,975.50
		Connection of Existing/Proposed Storm Sewer, 24-Inch Diameter and										
15	MEDINA	Under, to Existing/Proposed Storm Sewer, complete as per plans	1	Each	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$875.00	\$875.00	\$1,025.00	\$1,025.00
		SUBTC	M SEWER:		\$263,141.50		\$291,154.00		\$327,662.25		\$379,919.50	

SANITAR	Y SEWER											
16	ODOT/SC	ODOT 202 Sanitary Structure Removed, NOT including excavation, trenching or backfilling	3	Each	\$1,100.00	\$3,300.00	\$400.00	\$1,200.00	\$465.00	\$1,395.00	\$675.00	\$2,025.00
17	ODOT/SC	ODOT 202 Sanitary Sewer Pipe Removed, 24-inch diameter and under, NOT including excavation, trenching or backfilling	1,243	Lineal Foot	\$5.00	\$6,215.00	\$5.00	\$6,215.00	\$10.00	\$12,430.00	\$3.00	\$3,729.00
18	MEDINA	Sanitary Sewer, 8-inch diameter SDR-35 PVC pipe, within pavement areas (premium fill required) as per plan (including trenching, furnishing and installing bedding, backfill, and testing) complete in place	1,243	Lineal Foot	\$175.00	\$217,525.00	\$86.00	\$106,898.00	\$104.00	\$129,272.00	\$112.50	\$139,837.50
19	MEDINA	Four (4) Inch Sanitary Lateral SDR-35 within pavement areas (premium fill required, including trenching, furnishing & installing bedding and backfill, connection and 8"x 4" PVC SDR 35 wye) as per plan	877	Lineal Foot	\$125.00	\$109,625.00	\$60.00	\$52,620.00	\$118.00	\$103,486.00	\$82.50	\$72,352.50
20	MEDINA	Sanitary Manhole installed within pavement areas (premium fill required, including trench, furnishing & installing bedding and backfill, testing and connection to ex. 8" VCP pipe w/ conc. encased Ferncos) complete in place	3	Each	\$4,100.00	\$12,300.00	\$4,500.00	\$13,500.00	\$3,750.00	\$11,250.00	\$5,890.00	\$17,670.00
21	ODOT/SC	Connection of Existing/Proposed Sanitary Sewer, 24-Inch Diameter and Under, to Existing/Proposed Sanitary Sewer, complete as per plans	1	Each	\$1,035.00	\$1,035.00	\$1,000.00	\$1,000.00	\$1,075.00	\$1,075.00	\$1,295.00	\$1,295.00

	S. Pros	spect St. (Sta. 10+00 to Sta. 23+35)			Engineer	's Estimate	TriMo	or Corp	Fechko I	Excavating	Fabrizi	Trucking
		DECODIDION	OTV		UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
	ENCE		QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
ł	R (Cont	tinued)			I							
		SUBTOTA	L, SANITAF	RY SEWER:		\$350,000.00		\$181,433.00		\$258,908.00		\$236,909.00
								·				
ľ	YDRAN	ITS and FITTINGS										
		ODOT 202 Water Main Removed, 24-inch diameter and under, NOT		Lineal								
1	T/SC	including excavation, trenching or backfilling	500	Foot	\$10.00	\$5,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$2.50	\$1,250.00
-	T/SC	ODOT 613 Low Strength Mortar Backfill to Abandon Existing Water Main, (4-Inch diameter) complete	1 2 1 0	Lineal Foot	ኖር ደብ	\$8,528.00	\$4.00	\$5,248.00	\$1.50	¢1.069.00	\$2.15	¢0.000.00
	1/30	ODOT 613 Low Strength Mortar Backfill to Abandon Existing Water Main,	1,312	Lineal	\$6.50	ф0,020.00	 φ4.00	ψ 3,240.00	JC.10	\$1,968.00	φ2.15	\$2,820.80
1	T/SC	(8-Inch diameter) complete	1,310	Foot	\$8.00	\$10,480.00	\$5.00	\$6,550.00	\$3.00	\$3,930.00	\$2.90	\$3,799.00
		ODOT Item 202 Remove Existing Hydrant Assembly, including watch valve,										
1	T/SC	complete as per plan	4	Each	\$500.00	\$2,000.00	\$600.00	\$2,400.00	\$260.00	\$1,040.00	\$590.00	\$2,360.00
		ODOT 202 Existing Water Line Valve Abandon, replaced with type 304			* 050.00	A TAA AA	* 400.00	* ***	* ***	* 4 * * *	* ~~~~~~	* 4 0 - 0 0 0
	T/SC	aggregate to subgrade elevations, including excavation	2	Each	\$350.00	\$700.00	\$400.00	\$800.00	\$200.00	\$400.00	\$688.00	\$1,376.00
)	INA	Hydrant Assembly, six (6) inch line, including tees, couplings, valve & valve box, risers, complete in place	5	Each	\$7,500.00	\$37,500.00	\$9,000.00	\$45,000.00	\$6,350.00	\$31,750.00	\$8,860.00	\$44,300.00
		Eight (8) inch Ductile Iron Class 52 Water Main within pavement areas with			,,	,	, . ,	· · / · · · · ·		, - ,		, ,
		Polyethylene Encasement, (including bedding and cover material, including		Lineal								
)	INA	trenching and furnishing and installing premium backfill)	411	Foot	\$87.00	\$35,757.00	\$130.00	\$53,430.00	\$105.00	\$43,155.00	\$145.00	\$59,595.00
		Eight (8) inch Ductile Iron Class 52 Water Main outside of pavement areas										
		(acceptable natural fill permitted) with Polyethylene Encasement, (including		Lincol								
)	INA	bedding and cover material, including trenching and furnishing and installing natural backfill)	903	Lineal Foot	\$76.00	\$68.628.00	\$120.00	\$108.360.00	\$92.00	\$83.076.00	\$103.00	\$93,009.00
						. ,		. ,				. ,
)	INA	Eight (8) Inch - Various Bends, complete in place	5	Each	\$500.00	\$2,500.00	\$750.00	\$3,750.00	\$600.00	\$3,000.00	\$485.00	\$2,425.00
					AT 000 00	* = 000 00	* = • •• ••	A F 000 00	* = * **	* = 000 00	* 4 005 00	* 4 005 00
)	INA	Six (6) Inch by Six (6) Inch Tapping Sleeve & Valve, complete in place	1	Each	\$5,000.00	\$5,000.00	\$5,300.00	\$5,300.00	\$5,900.00	\$5,900.00	\$4,365.00	\$4,365.00
)	INA	Eight (8) Inch Solid Sleeve, complete in place	1	Each	\$400.00	\$400.00	\$650.00	\$650.00	\$650.00	\$650.00	\$757.00	\$757.00
			-		,	,		,	,	,	,	
)	INA	Eight (8) Inch by Six (6) Inch Reducer, complete in place	1	Each	\$400.00	\$400.00	\$550.00	\$550.00	\$550.00	\$550.00	\$420.00	\$420.00
)	ΙΝΔ	Fight (8) Inch Line Valve with Valve Box, complete in place	2	Fach	\$1 800 00	\$3 600 00	\$2 500 00	\$5 በበበ በበ	\$2 150 00	\$4 300 00	\$5 <u>4</u> 18 በበ	\$10,836.00
)))))	ina Ina Ina	installing natural backfill) Eight (8) Inch - Various Bends, complete in place Six (6) Inch by Six (6) Inch Tapping Sleeve & Valve, complete in place Eight (8) Inch Solid Sleeve, complete in place	1	Each Each	\$5,000.00 \$400.00	\$5,000.00 \$400.00	\$5,300.00 \$650.00	\$5,300.00 \$650.00	\$5,900.00 \$650.00		\$5,900.00 \$650.00	\$3,000.00 \$485.00 \$5,900.00 \$4,365.00 \$650.00 \$757.00 \$550.00 \$420.00

	D ITEMS: S. Pros	spect St. (Sta. 10+00 to Sta. 23+35)				s Estimate	TriMo	r Corp	Fechko E	xcavating	Fabrizi	Trucking
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
ATER N	MAINS, HYDRAN	ITS and FITTINGS (Continued)		•								
27h	MEDINA	Four (4) Inch Cap / Plug, complete in place	2	Each	\$400.00	\$800.00	\$500.00	\$1,000.00	\$350.00	\$700.00	\$345.00	\$690.00
27i	MEDINA	Six (6) Inch Cap / Plug, complete in place	1	Each	\$450.00	\$450.00	\$500.00	\$500.00	\$385.00	\$385.00	\$413.00	\$413.00
27j	MEDINA	Two (2) Inch Temporary Flushing Assembly, complete in place per plan detail	1	Each	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,613.00	\$2,613.0
28a	MEDINA	Water Service Connection, "Long Connection", 3/4 Inch Tap, complete in place, including transfer of service from existing line to proposed eight (8) inch water main, supply and installation of curb stop and box, trenching and furnishing and installing premium backfill, supply and installation of corporation valve, complete in place as per plan.	23	Each	\$2,800.00	\$64,400.00	\$1,900.00	\$43,700.00	\$3,275.00	\$75,325.00	\$2,800.00	\$64,400.
201		Water Service Connection, "Short Connection", 3/4 Inch Tap, complete in place, including transfer of service from existing line to proposed eight (8) inch water main, supply and installation of curb stop and box, trenching and furnishing and installing premium backfill, supply and installation of	00	Fach	¢4 900 00			\$26 AE0 00	¢4 650 00			
28b	MEDINA	corporation valve, complete in place as per plan.	23	Each	\$1,800.00	\$41,400.00	\$1,150.00	\$26,450.00	\$1,650.00	\$37,950.00	\$1,479.00	\$34,017.0
		SUBTOTAL, WATER MAINS, HYDI	RANTS and	FITTINGS:		\$289,343.00		\$315,188.00		\$300,579.00		\$329,445

PAVEME	NT		-									
29a	MEDINA	Concrete Sidewalk, Four (4) inch thick, (4'-0" wide), complete in place	4,696	Square Foot	\$7.00	\$32,872.00	\$6.50	\$30,524.00	\$6.00	\$28,176.00	\$7.30	\$34,280.80
29b	MEDINA	Concrete Curb Ramp. ODOT Design B2, complete in place	142	Square Foot	\$15.00	\$2,130.00	\$16.00	\$2,272.00	\$18.00	\$2,556.00	\$15.50	\$2,201.00
30	ODOT/SC	ODOT Item 608 Concrete Steps, as per plan detail	1	Lump Sum	\$3,000.00	\$3,000.00	\$3,200.00	\$3,200.00	\$925.00	\$925.00	\$3,185.00	\$3,185.00
31a	ODOT/SC	ODOT Item 206 Cement Stabilized Subgrade, 9 inches deep	3,128	Square Yard	\$12.00	\$37,536.00	\$9.00	\$28,152.00	\$6.20	\$19,393.60	\$7.60	\$23,772.80
31b	ODOT/SC	ODOT 206 Cement at 46.6 pounds per square yard (6% by dry unit weight)	73	Ton	\$175.00	\$12,775.00	\$190.00	\$13,870.00	\$195.00	\$14,235.00	\$193.00	\$14,089.00
31c	ODOT/SC	ODOT Item 206 Mixture Design for Chemically Stabilized Soils	1	Lump Sum	\$5,000.00	\$5,000.00	\$2,800.00	\$2,800.00	\$2,000.00	\$2,000.00	\$4,586.00	\$4,586.00
31d	ODOT/SC	ODOT Item 206 Curing Coat	3,128	Square Yard	\$0.50	\$1,564.00	\$0.25	\$782.00	\$1.20	\$3,753.60	\$1.75	\$5,474.00
32	ODOT	ODOT 206 Test Rolling	6	Hours	\$125.00	\$750.00	\$125.00	\$750.00	\$100.00	\$600.00	\$143.00	\$858.00

May 27, 2022

ASE BI	D ITEMS: S. Pros	spect St. (Sta. 10+00 to Sta. 23+35)			Engineer	's Estimate	TriMo	or Corp	Fechko I	Excavating	Fabrizi	Trucking
ITEM	DEEEDENAE		071/		UNIT	ITEM	UNIT	ITEM	UNIT	ITEM	UNIT	ITEM
NO	REFERENCE	DESCRIPTION	QTY	UNIT	COST	TOTAL	COST	TOTAL	COST	TOTAL	COST	TOTAL
AVEME	NT (Continued)											
33a	MEDINA	City of Medina "Residential" Pavement (eight (8) inch fiber reinforced Type QCMS concrete pavement with three (3) inches of type 57 aggregate base NOT including subgrade stabilization.) Unit price submitted to include furnishing and installing concrete pavement and 57 aggregate base.	3,092	Square Yard	\$71.00	\$219,532.00	\$75.00	\$231,900.00	\$67.00	\$207,164.00	\$67.50	\$208,710
33b	MEDINA	City of Medina "Residential" Pavement For Drive Aprons (seven (7) inch fiber reinforced Type QCMS concrete pavement with two (2) inches of type 57 aggregate base). Unit price submitted to include furnishing and installing concrete pavement and 57 aggregate base including excavation.	1,208	Square Yard	\$73.00	\$88,184.00	\$77.00	\$93,016.00	\$66.00	\$79,728.00	\$83.25	\$100,566
33c	MEDINA	City of Medina Concrete "Heavy Duty" Base Pavement for Lafayette Rd. transition (ten (10) inch fiber reinforced Type QCMS concrete pavement with two (2) inches of type 57 aggregate base). Unit price submitted to include furnishing and installing concrete pavement and 57 aggregate base, complete per plan detail	36	Square Yard	\$80.00	\$2,880.00	\$85.00	\$3,060.00	\$88.00	\$3,168.00	\$120.00	\$4,320.0
34	ODOT	ODOT Item 407 Tack Coat	10	Gallon	\$10.00	\$100.00	\$15.00	\$150.00	\$5.25	\$52.50	\$11.00	\$110.0
35a	ODOT	ODOT Item 442 Asphalt Concrete Intermediate Course, Type 2, PG-64-22	2	Cubic Yard	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$630.00	\$1,260.00	\$770.00	\$1,540.0
35b	ODOT	ODOT Item 442 Asphalt Concrete Surface Course, Type 1, PG-64-22	2	Cubic Yard	\$600.00	\$1,200.00	\$800.00	\$1,600.00	\$630.00	\$1,260.00	\$880.00	\$1,760.0
36	ODOT/SC	ODOT Type 57 and Type 8 Limestone Aggregate for Drive Repair adjacent to new concrete drive apron (includes furnishing and installing aggregate) complete in place as per plan detail	10	Square Yard	\$50.00	\$500.00	\$50.00	\$500.00	\$9.50	\$95.00	\$42.00	\$420.0
		SU	BTOTAL, P	AVEMENT:		\$409,023.00		\$414,076.00		\$364.366.70		\$405,87

PAVEME	NT MARKINGS											
37a		ODOT 646 Epoxy Pavement Markings (concrete surfaces), Stop Line, 24 inch, white	10	Lineal Foot	\$50.00	\$500.00	\$55.00	\$550.00	\$52.50	\$525.00	\$11.50	\$115.00
37b		ODOT 646 Epoxy Pavement Markings (concrete surfaces), Crosswalk Line, 12 inch, white	91	Lineal Foot	\$35.00	\$3,185.00	\$32.00	\$2,912.00	\$31.50	\$2,866.50	\$104.50	\$9,509.50
		SUBTOTAL, P/	IARKINGS:		\$3,685.00		\$3,462.00		\$3,391.50		\$9,624.50	

	D ITEMS: S. Pro	spect St. (Sta. 10+00 to Sta. 23+35)				s Estimate		r Corp		xcavating		Trucking
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
AINTEN	NANCE OF TRAF	FIC										-
38	ODOT	ODOT 410 Traffic Compacted Surface, Type A or B	30	Cubic Yard	\$75.00	\$2,250.00	\$75.00	\$2,250.00	\$57.00	\$1,710.00	\$63.00	\$1,890.0
39	MEDINA	Temporary Ramping for Local Traffic Access, Installed and Maintained (included furnishing and placing ODOT Type 304 aggregate), complete	36	Each	\$300.00	\$10,800.00	\$100.00	\$3,600.00	\$450.00	\$16,200.00	\$250.00	\$9,000.0
40	ODOT	ODOT 614 Maintaining Traffic	1	Lump Sum	\$9,750.00	\$9,750.00	\$12,500.00	\$12,500.00	\$35,500.00	\$35,500.00	\$7,740.00	\$7,740.0
41	ODOT	ODOT 614 Asphalt Concrete for Maintaining Traffic	90	Cubic Yard	\$200.00	\$18,000.00	\$210.00	\$18,900.00	\$265.00	\$23,850.00	\$310.00	\$27,900.
42	ODOT	ODOT 614 Law Enforcement Officer with Patrol Car	40	Hour	\$70.00	\$2,800.00	\$70.00	\$2,800.00	\$50.00	\$2,000.00	\$70.00	\$2,800.0
43	ODOT	ODOT 616 Water	10	Mgal	\$50.00	\$500.00	\$100.00	\$1,000.00	\$10.00	\$100.00	\$10.00	\$100.0
		SUBTOTAL, MAINT	ENANCE OF	TRAFFIC:		\$44,100.00		\$41,050.00		\$79,360.00		\$49,43

SEEDING	AND LANDSCA	PING										
44	ODOT/SC	ODOT 653 Topsoil, furnished (imported) and placed	273	Cubic Yard	\$55.00	\$15,015.00	\$60.00	\$16,380.00	\$55.00	\$15,015.00	\$62.00	\$16,926.00
45	ODOT	ODOT 659 Commercial Fertilizer	0.30	Tons	\$1,000.00	\$300.00	\$2,100.00	\$630.00	\$1,600.00	\$480.00	\$620.00	\$186.00
46a	ODOT/SC	ODOT 659 Seeding and Mulching	3,300	Square Yard	\$2.50	\$8,250.00	\$2.50	\$8,250.00	\$2.00	\$6,600.00	\$1.80	\$5,940.00
46b	ODOT/SC	ODOT 659 Inter-Seeding	300	Square Yard	\$2.00	\$600.00	\$2.00	\$600.00	\$0.50	\$150.00	\$1.80	\$540.00
47	ODOT	ODOT 659 Water	15	M Gallons	\$50.00	\$750.00	\$45.00	\$675.00	\$10.00	\$150.00	\$10.00	\$150.00
48	ODOT	ODOT 832 Erosion Control	12,000	Each	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00
	SUBTOTAL, SEEDING and LANDSCAPIN					\$36,915.00		\$38,535.00		\$34,395.00		\$35,742.00

8 of 9 City of Medina Job #1080: S. Prospect St. Reconstruction

BASE BID ITEMS: S. Prospect St. (Sta. 10+00 to Sta. 23+35)				Enginee	Engineer's Estimate		TriMor Corp		Fechko Excavating		Fabrizi Trucking	
ITEM NO	REFERENCE	DESCRIPTION	QTY UN	UNIT IT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	
INCIDEN	INCIDENTALS											
49	ODOT/SC	ODOT 624 Mobilization	Lun 1 Su		\$20,000.00	\$15,000.00	\$15,000.00	\$22,000.00	\$22,000.00	\$3,450.00	\$3,450.00	
50	MEDINA	Pre-Construction Video	Lun 1 Su	•	\$2,000.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$575.00	\$575.00	
51	MEDINA	Construction Layout	Lun 1 Su	1	\$10,000.00	\$3,500.00	\$3,500.00	\$15,000.00	\$15,000.00	\$5,745.00	\$5,745.00	
52	ODOT	Premium for Contract Performance Bond and Maintenance Bond	Lun 1 Su	1	\$9,000.00	\$13,000.00	\$13,000.00	\$13,385.00	\$13,385.00	\$9,440.00	\$9,440.00	
			SUBTOTAL, INCIDENT	ALS:	\$41,000.00		\$32,500.00		\$50,885.00		\$19,210.00	

SUMMARY - BASE BID								
SUBTOTAL, EARTHWORK & REMOVAL ITEMS (Item #1 through #8):	\$135,764.00	\$106,555.00	\$75,049.90	\$105,952.35				
SUBTOTAL, STORM SEWERS (Items #9 through #15):	\$263,141.50	\$291,154.00	\$327,662.25	\$379,919.50				
SUBTOTAL, SANITARY SEWERS (Items #16 through #21):	\$350,000.00	\$181,433.00	\$258,908.00	\$236,909.00				
SUBTOTAL, WATER MAINS, HYDRANTS and FITTINGS (Item #22 through #28b):	\$289,343.00	\$315,188.00	\$300,579.00	\$329,445.80				
SUBTOTAL, PAVEMENT (Item #29a through #36):	\$409,023.00	\$414,076.00	\$364,366.70	\$405,872.60				
SUBTOTAL, PAVEMENT MARKINGS (Item #37a through #37b):	\$3,685.00	\$3,462.00	\$3,391.50	\$9,624.50				
SUBTOTAL, MAINTANENCE OF TRAFFIC (Item #38 through #43):	\$44,100.00	\$41,050.00	\$79,360.00	\$49,430.00				
SUBTOTAL, SEEDING and LANDSCAPING (Item #44 through #48):	\$36,915.00	\$38,535.00	\$34,395.00	\$35,742.00				
SUBTOTAL, INCIDENTALS (Item #49 through #52):	\$41,000.00	\$32,500.00	\$50,885.00	\$19,210.00				
GRAND TOTAL, BASE BID (Items #1 through #52):	\$1,572,971.50	\$1,423,953.00	\$1,494,597.35	\$1,572,105.75				

BID ADDITIVE #1 BID - S. PROSPECT STREET RECONSTRUCTION				Engineer's Estimate		TriMor Corp		Fechko Excavating		Fabrizi Trucking		
ITEM NO	REFERENCE	DESCRIPTION	QTY	UNIT	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL	UNIT COST	ITEM TOTAL
		DNCRETE SIDEWALK REPLACEMENT (West Side of S. Prospect Street)			0001	IUIAL	0001		0001	IUTAL	0001	
A1-6a	ODOT	ODOT 202 Walk Removed	3,703	Square Foot	\$2.00	\$7,406.00	\$2.00	\$7,406.00	\$1.00	\$3,703.00	\$1.15	\$4,258.45
A1-29a	MEDINA	Concrete Sidewalk, Four (4) inch thick, (4'-0" wide), complete in place	3,703	Square Foot	\$7.00	\$25,921.00	\$6.50	\$24,069.50	\$7.00	\$25,921.00	\$7.30	\$27,031.90
		SUBTOTAL, AL	D ALTERNA	TE #1 BID:		\$33,327.00		\$31,475.50		\$29,624.00		\$31,290.35

COMPLETE BID SUMMARY												
	Engineer's Estimate	TriMor Corp	Fechko Excavating	Fabrizi Trucking								
GRAND TOTAL, BASE BID ACTUAL	\$1,572,971.50	\$1,423,953.00	\$1,494,597.35	\$1,572,105.75								
AS READ		\$1,423,953.00	\$1,494,597.35	\$1,572,105.75								
GRAND TOTAL, BID ADDITIVE #1 ACTUAL	\$33,327.00	\$31,475.50	\$29,624.00	\$31,290.35								
AS READ		\$31,475.50	\$29,624.00	\$31,290.35								
BASE BID AS % OF ENGINEER'S ESTIMATE:		90.5%	95.0%	99.9%								
Final Completion Date:		June 30, 2023	June 30, 2023	June 30, 2023								
Non-Collusion Agreement:		Yes	Yes	Yes								
Bid Info & Exp.:		Yes	Yes	Yes								
Bid Bond:		100% Bond	10% Bond	100% Bond								
OPWC Form Work:		Yes	Yes	Yes								